
 

In our analysis of the QHO we have
so far avoided finding the position representation

Hnlx Instead we have shown
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But we have a simpler way
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The derivative gives back the
function times x so we

try an ansatz
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We still need to find A we will use normalization
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Let's see how to handle this normalization
issue
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If we compute the norm of aln we

have
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So we again setup the operator

equ.atn7
clntD1atln7l2

nti lcl2 c out

mai ii
Thus to get the normalized state

htD
a



we can see a pattern
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In the spatialbasis this is
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It turns out this position basis
wavefunction can be written using

the Hermile Polynomials



let Z mfFx then
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Where Hn ane the thermite Polynomials

Hn Z is tabulated in most QMBooks
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